
     8663-097-110-10                                                            2015/12/03

目　　　　　次
 

 

 

        SCMA48M_54M chassis
 

Joint(Universal)system(Scma54m)........................................ Fig.  1

Joint(Universal)system(Scma48m)........................................ Fig.  2

Case(Bevel)system(Scma48m)............................................. Fig.  3

Case(Bevel)system(Scma54m)............................................. Fig.  4

Pulley System(Scma48m)................................................. Fig.  5

Pulley System(Scma54m)................................................. Fig.  6

Belt System............................................................ Fig.  7

Belt System............................................................ Fig.  8

Metal System........................................................... Fig.  9

Brade  System(Scma48m)................................................. Fig. 10

Brade  System(Scma54m)................................................. Fig. 11

Deck(Mower)system(Scma48a)............................................. Fig. 12

Deck(Mower)system(Scma54m)............................................. Fig. 13

Cover(Discharge)system(Scma48m)........................................ Fig. 14

Cover(Discharge)system(Scma54m)........................................ Fig. 15

Cover(Belt)system(Scma48m)............................................. Fig. 16

Cover(Belt)system(Scma54m)............................................. Fig. 17

Wheel(Gauge)system..................................................... Fig. 18

Link System............................................................ Fig. 19

Label.................................................................. Fig. 20

Joint(Universal)(Scm48m)(Option)....................................... Fig. 21

Joint(Universal)(Scm54m)(Option)....................................... Fig. 22

Component Parts........................................................ Fig. 23

Component Parts........................................................ Fig. 24

Component Parts........................................................ Fig. 25

1 / 33



     8663-097-110-10                                                            2015/12/03

2 / 33



     8663-097-110-10                                                            2015/12/03

3 / 33



     8663-097-110-10                                                            2015/12/03

4 / 33



     8663-097-110-10                                                            2015/12/03

5 / 33



     8663-097-110-10                                                            2015/12/03

6 / 33



     8663-097-110-10                                                            2015/12/03
     指定型式: -  指定号機: -

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

　

図番

　

　

部品コード

　

　

品名

　

仕
様

　
型式
　 代

替
性

色
番
号

グ
ル
|
プ

　

備考

　
SCMA
48M

SCMA
54M

 
　

 
　

 
　

 
　

FIG.001  JOINT(UNIVERSAL)SYSTEM(SCMA54M)

1 8659-101-210-00 JOINT/UNIVERSAL SET 1 023
2 V580-140-804-00 PIN,SPRING/8  X40 W 1

3 WIRE 1

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

7 / 33



     8663-097-110-10                                                            2015/12/03
     指定型式: -  指定号機: -

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

　

図番

　

　

部品コード

　

　

品名

　

仕
様

　
型式
　 代

替
性

色
番
号

グ
ル
|
プ

　

備考

　
SCMA
48M

SCMA
54M

 
　

 
　

 
　

 
　

FIG.002  JOINT(UNIVERSAL)SYSTEM(SCMA48M)

1 8662-101-210-00 JOINT/UNIVERSAL SET * 1 024
2 V580-140-804-00 PIN,SPRING/8  X40 W * 1

3 WIRE * 1

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

8 / 33



     8663-097-110-10                                                            2015/12/03
     指定型式: -  指定号機: -

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

　

図番

　

　

部品コード

　

　

品名

　

仕
様

　
型式
　 代

替
性

色
番
号

グ
ル
|
プ

　

備考

　
SCMA
48M

SCMA
54M

 
　

 
　

 
　

 
　

FIG.003  CASE(BEVEL)SYSTEM(SCMA48M)

1 8663-201-001-10 CASE/BEVEL * 1

2 7955-201-026-00 PLUG,DRAIN (1/4) * 1

3 V211-561-003-50 BOLT/S * 4

4 8663-201-002-00 COVER/CASE * 1

5 7955-201-026-00 PLUG,DRAIN (1/4) * 1

6 V721-103-108-00 O-RING/G80 * 1

7 V211-260-801-60 BOLT,SEMS (S) M8X16 * 4

8 8595-201-013-00 SHAFT/INPUT * 1

9 1594-218-001-00 BEARING/BALL 6305SH2 * 2

10 V707-140-062-00 RING/SNAP * 1

11 8595-201-025-00 SEAL/OIL * 1

12 8657-201-210-10 GEAR/BEVEL/25-1 SET * 1

13 8663-201-003-00 SHAFT/OUTPUT * 1

14 V600-110-630-40 BEARING,RB/6304 * 1

15 8663-201-004-00 SHIM/0.1 * 2

16 8663-201-005-00 SHIM/0.2 * 1

17 8595-201-021-00 SHIM/0.1 * 4

18 8595-201-022-00 SHIM/0.2 * 2

19 V600-110-620-60 BEARING,RB/6206 * 1

20 V744-130-551-20 SEAL,OIL/TC305512 * 1

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

9 / 33



     8663-097-110-10                                                            2015/12/03
     指定型式: -  指定号機: -

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

　

図番

　

　

部品コード

　

　

品名

　

仕
様

　
型式
　 代

替
性

色
番
号

グ
ル
|
プ

　

備考

　
SCMA
48M

SCMA
54M

 
　

 
　

 
　

 
　

FIG.004  CASE(BEVEL)SYSTEM(SCMA54M)

1 8663-201-001-10 CASE/BEVEL 1

2 7955-201-026-00 PLUG,DRAIN (1/4) 1

3 V211-561-003-50 BOLT/S 4

4 8663-201-002-00 COVER/CASE 1

5 7955-201-026-00 PLUG,DRAIN (1/4) 1

6 V721-103-108-00 O-RING/G80 1

7 V211-260-801-60 BOLT,SEMS (S) M8X16 4

8 8595-201-013-00 SHAFT/INPUT 1

9 1594-218-001-00 BEARING/BALL 6305SH2 2

10 V707-140-062-00 RING/SNAP 1

11 8595-201-025-00 SEAL/OIL 1

12 8654-201-410-10 GEAR/BEVEL/25-2 SET 1

13 8665-201-001-00 SHAFT/OUTPUT 1

14 V600-110-630-40 BEARING,RB/6304 1

15 8663-201-004-00 SHIM/0.1 2

16 8663-201-005-00 SHIM/0.2 1

17 8595-201-021-00 SHIM/0.1 4

18 8595-201-022-00 SHIM/0.2 2

19 V600-110-620-60 BEARING,RB/6206 1

20 V744-130-551-20 SEAL,OIL/TC305512 1

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

10 / 33



     8663-097-110-10                                                            2015/12/03
     指定型式: -  指定号機: -

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

　

図番

　

　

部品コード

　

　

品名

　

仕
様

　
型式
　 代

替
性

色
番
号

グ
ル
|
プ

　

備考

　
SCMA
48M

SCMA
54M

 
　

 
　

 
　

 
　

FIG.005  PULLEY SYSTEM(SCMA48M)

1 8663-202-210-10 PULLY/STS/62    COMP * 1

2 3670-520-001-00 KEY/08X07X20 * 1

3 3746-111-011-00 WASHER * 1

4 V304-460-016-00 NUT/M16 * 1

5 V401-160-016-00 WASHER,SP/M16 * 1

6 8663-202-220-10 PULLY/STS/72    COMP * 2

7 8654-202-016-00 KEY/06X06X28 * 2

8 3746-111-011-00 WASHER * 2

9 V304-460-016-00 NUT/M16 * 2

10 V401-160-016-00 WASHER,SP/M16 * 2

11 8663-202-250-10 BASE/LH         COMP * 1

12 V211-561-002-50 BOLT/M10X25 * 4

13 8663-202-260-20 BASE/RH         COMP * 1

14 V211-561-002-50 BOLT/M10X25 * 4

15 8663-202-230-00 PULLY/STS/32    COMP * 3

16 V600-150-630-40 BEARING,RB/6304SS * 6

17 V705-140-052-00 RING,SNAP/52 C * 3

18 V704-140-020-00 RING,SNAP/20C * 3

19 8663-202-290-00 PLATE/TENSION   ASSY * 1

20 8597-202-501-00 BUSH/16X18X15 * 2

21 3621-211-003-00 WASHER * 1

22 V704-140-016-00 RING,SNAP/16 C * 1

23 V201-261-604-00 BOLT/M16X40 * 2

24 V401-160-016-00 WASHER,SP/M16 * 2

25 3746-111-011-00 WASHER * 2

26 3100-107-004-10 SPRING/SIDE CLUTCH * 1

27 3737-341-007-00 ROD,CHAIN TENSION * 1

28 V304-260-008-00 NUT * 2

29 8663-202-004-00 COLLAR/10X22X48 * 4

30 V201-261-006-00 BOLT/M10X60 * 4

11 / 33



     8663-097-110-10                                                            2015/12/03
     指定型式: -  指定号機: -

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

　

図番

　

　

部品コード

　

　

品名

　

仕
様

　
型式
　 代

替
性

色
番
号

グ
ル
|
プ

　

備考

　
SCMA
48M

SCMA
54M

 
　

 
　

 
　

 
　

FIG.005  PULLEY SYSTEM(SCMA48M)

31 V401-160-010-00 WASHER,SP/M10 * 4

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

12 / 33



     8663-097-110-10                                                            2015/12/03
     指定型式: -  指定号機: -

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

　

図番

　

　

部品コード

　

　

品名

　

仕
様

　
型式
　 代

替
性

色
番
号

グ
ル
|
プ

　

備考

　
SCMA
48M

SCMA
54M

 
　

 
　

 
　

 
　

FIG.006  PULLEY SYSTEM(SCMA54M)

1 8663-202-210-10 PULLY/STS/62    COMP 1

2 3670-520-001-00 KEY/08X07X20 1

3 3746-111-011-00 WASHER 1

4 V304-460-016-00 NUT/M16 1

5 V401-160-016-00 WASHER,SP/M16 1

6 8663-202-220-10 PULLY/STS/72    COMP 2

7 8654-202-016-00 KEY/06X06X28 2

8 3746-111-011-00 WASHER 2

9 V304-460-016-00 NUT/M16 2

10 V401-160-016-00 WASHER,SP/M16 2

11 8665-202-210-10 BASE/LH         COMP 1
-100137

11A 8665-202-210-20 BASE/LH         COMP 1
100138-

12 V211-561-002-50 BOLT/M10X25 4

13 8663-202-260-20 BASE/RH         COMP 1
-100137

13A 8665-202-220-00 BASE/RH         COMP 1
100138-

14 V211-561-002-50 BOLT/M10X25 4

15 8663-202-230-00 PULLY/STS/32    COMP 3

16 V600-150-630-40 BEARING,RB/6304SS 6

17 V705-140-052-00 RING,SNAP/52 C 3

18 V704-140-020-00 RING,SNAP/20C 3

19 8663-202-290-00 PLATE/TENSION   ASSY 1

20 8597-202-501-00 BUSH/16X18X15 2

21 3621-211-003-00 WASHER 1

22 V704-140-016-00 RING,SNAP/16 C 1

23 V201-261-604-00 BOLT/M16X40 2

24 V401-160-016-00 WASHER,SP/M16 2

25 3746-111-011-00 WASHER 2

26 3100-107-004-10 SPRING/SIDE CLUTCH 1

27 3737-341-007-00 ROD,CHAIN TENSION 1

28 V304-260-008-00 NUT 2

13 / 33



     8663-097-110-10                                                            2015/12/03
     指定型式: -  指定号機: -

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

　

図番

　

　

部品コード

　

　

品名

　

仕
様

　
型式
　 代

替
性

色
番
号

グ
ル
|
プ

　

備考

　
SCMA
48M

SCMA
54M

 
　

 
　

 
　

 
　

FIG.006  PULLEY SYSTEM(SCMA54M)

29 8663-202-004-00 COLLAR/10X22X48 4

30 V201-261-006-00 BOLT/M10X60 4

31 V401-160-010-00 WASHER,SP/M10 4

32 8665-202-230-00 BAR/SUPPORT     COMP 1

33 V201-361-203-50 BOLT/M12X35 4

34 V401-160-012-00 WASHER,SP/M12 4

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

14 / 33



     8663-097-110-10                                                            2015/12/03
     指定型式: -  指定号機: -

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

　

図番

　

　

部品コード

　

　

品名

　

仕
様

　
型式
　 代

替
性

色
番
号

グ
ル
|
プ

　

備考

　
SCMA
48M

SCMA
54M

 
　

 
　

 
　

 
　

FIG.007  BELT SYSTEM

1 8663-203-001-00 BELT/D/STS/2800 * 1

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

15 / 33



     8663-097-110-10                                                            2015/12/03
     指定型式: -  指定号機: -

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

　

図番

　

　

部品コード

　

　

品名

　

仕
様

　
型式
　 代

替
性

色
番
号

グ
ル
|
プ

　

備考

　
SCMA
48M

SCMA
54M

 
　

 
　

 
　

 
　

FIG.008  BELT SYSTEM

1 8665-203-001-00 BELT/D/STS/2880 1

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

16 / 33



     8663-097-110-10                                                            2015/12/03
     指定型式: -  指定号機: -

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

　

図番

　

　

部品コード

　

　

品名

　

仕
様

　
型式
　 代

替
性

色
番
号

グ
ル
|
プ

　

備考

　
SCMA
48M

SCMA
54M

 
　

 
　

 
　

 
　

FIG.009  METAL SYSTEM

1 8663-301-003-00 METAL/BLADE * 2 2

2 V211-561-002-50 BOLT/M10X25 * 8 8

3 8663-301-001-00 SHAFT/BLADE * 2 2

4 V760-150-000-00 NIPPLE,GREASE * 2 2

5 V600-110-690-80 BEARING * 2 2

6 8654-301-004-00 SEAL/OIL * 2 2

7 V707-140-062-00 RING/SNAP * 4 4

8 1594-221-001-00 BEARING/BALL 6205SH2 * 2 2

9 V744-135-520-80 SEAL,OIL/TC35528 * 2 2

10 V705-140-052-00 RING,SNAP/52 C * 4 4

11 8663-301-002-10 COLLAR/BLADE * 2 2

12 8663-301-004-00 PIN/08X18 * 4 4

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

17 / 33



     8663-097-110-10                                                            2015/12/03
     指定型式: -  指定号機: -

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

　

図番

　

　

部品コード

　

　

品名

　

仕
様

　
型式
　 代

替
性

色
番
号

グ
ル
|
プ

　

備考

　
SCMA
48M

SCMA
54M

 
　

 
　

 
　

 
　

FIG.010  BRADE  SYSTEM(SCMA48M)

1 8663-306-001-10 BLADE/60X640/C * 1

2 8663-306-002-10 BLADE/60X640/D * 1

3 8663-306-210-10 PLATE/I/80X110  COMP * 2

4 8663-306-004-00 SHIM/1.2 * 2

5 V203-361-203-50 BOLT * 2

6 V401-160-012-00 WASHER,SP/M12 * 2

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

18 / 33



     8663-097-110-10                                                            2015/12/03
     指定型式: -  指定号機: -

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

　

図番

　

　

部品コード

　

　

品名

　

仕
様

　
型式
　 代

替
性

色
番
号

グ
ル
|
プ

　

備考

　
SCMA
48M

SCMA
54M

 
　

 
　

 
　

 
　

FIG.011  BRADE  SYSTEM(SCMA54M)

1 8665-306-001-10 BLADE/60X716/C 1

2 8665-306-002-10 BLADE/60X716/D 1

3 8663-306-210-10 PLATE/I/80X110  COMP 2

4 8663-306-004-00 SHIM/1.2 2

5 V203-361-203-50 BOLT 2

6 V401-160-012-00 WASHER,SP/M12 2

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

19 / 33



     8663-097-110-10                                                            2015/12/03
     指定型式: -  指定号機: -

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

　

図番

　

　

部品コード

　

　

品名

　

仕
様

　
型式
　 代

替
性

色
番
号

グ
ル
|
プ

　

備考

　
SCMA
48M

SCMA
54M

 
　

 
　

 
　

 
　

FIG.012  DECK(MOWER)SYSTEM(SCMA48A)

1 8663-402-210-50 DECK/MOWER/48   COMP * 1 7F

2 8595-608-082-10 PIN/16X96 * 2

3 1560-601-028-00 SPRING/HC042 * 2

4 V580-140-504-00 PIN,SPRING/5  X40 W * 2

5 8663-402-002-00 PLUG/HOSE/A * 2

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

20 / 33



     8663-097-110-10                                                            2015/12/03
     指定型式: -  指定号機: -

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

　

図番

　

　

部品コード

　

　

品名

　

仕
様

　
型式
　 代

替
性

色
番
号

グ
ル
|
プ

　

備考

　
SCMA
48M

SCMA
54M

 
　

 
　

 
　

 
　

FIG.013  DECK(MOWER)SYSTEM(SCMA54M)

1 8665-402-210-40 DECK/MOWER/54   COMP 1 7F

2 8595-608-082-10 PIN/16X96 2

3 1560-601-028-00 SPRING/HC042 2

4 V580-140-504-00 PIN,SPRING/5  X40 W 2

5 8663-402-002-00 PLUG/HOSE/A 2

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

21 / 33



     8663-097-110-10                                                            2015/12/03
     指定型式: -  指定号機: -

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

　

図番

　

　

部品コード

　

　

品名

　

仕
様

　
型式
　 代

替
性

色
番
号

グ
ル
|
プ

　

備考

　
SCMA
48M

SCMA
54M

 
　

 
　

 
　

 
　

FIG.014  COVER(DISCHARGE)SYSTEM(SCMA48M)

1 8663-406-210-00 COVER/DISCHARGE COMP * 1 7F

2 V363-260-008-00 NUT/WASHER * 2

3 8663-406-001-00 SPRING/HC110 * 2

4 V363-260-008-00 NUT/WASHER * 2

5 V304-260-008-00 NUT * 2

6 V411-260-008-00 WASHER,PL/M 8 * 2

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

22 / 33



     8663-097-110-10                                                            2015/12/03
     指定型式: -  指定号機: -

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

　

図番

　

　

部品コード

　

　

品名

　

仕
様

　
型式
　 代

替
性

色
番
号

グ
ル
|
プ

　

備考

　
SCMA
48M

SCMA
54M

 
　

 
　

 
　

 
　

FIG.015  COVER(DISCHARGE)SYSTEM(SCMA54M)

1 8665-406-210-00 COVER/DISCHARGE COMP 1 7F

2 V363-260-008-00 NUT/WASHER 2

3 8663-406-001-00 SPRING/HC110 2

4 V363-260-008-00 NUT/WASHER 2

5 V304-260-008-00 NUT 2

6 V411-260-008-00 WASHER,PL/M 8 2

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

23 / 33



     8663-097-110-10                                                            2015/12/03
     指定型式: -  指定号機: -

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

　

図番

　

　

部品コード

　

　

品名

　

仕
様

　
型式
　 代

替
性

色
番
号

グ
ル
|
プ

　

備考

　
SCMA
48M

SCMA
54M

 
　

 
　

 
　

 
　

FIG.016  COVER(BELT)SYSTEM(SCMA48M)

1 8663-407-310-00 COVER/BELT/LH   COMP * 1 7F

2 8663-407-031-00 INSULATOR/150X100 * 1

3 1636-631-013-00 TRIM/160 * 1

4 1636-631-014-00 TRIM/320 * 1

5 1728-630-005-20 INSULATOR/270 * 1

6 8663-407-032-00 INSULATOR/175 * 1

7 1728-630-005-20 INSULATOR/270 * 1

8 8663-407-320-20 COVER/BELT/RH   COMP * 1 7F

9 8663-407-230-20 PLATE/COVER     COMP * 1 7F

10 8663-407-031-00 INSULATOR/150X100 * 1

11 1636-631-013-00 TRIM/160 * 1

12 1636-631-014-00 TRIM/320 * 1

13 1728-630-005-20 INSULATOR/270 * 1

14 8663-407-032-00 INSULATOR/175 * 1

15 1728-630-005-20 INSULATOR/270 * 1

16 V363-260-008-00 NUT/WASHER * 12

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

24 / 33



     8663-097-110-10                                                            2015/12/03
     指定型式: -  指定号機: -

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

　

図番

　

　

部品コード

　

　

品名

　

仕
様

　
型式
　 代

替
性

色
番
号

グ
ル
|
プ

　

備考

　
SCMA
48M

SCMA
54M

 
　

 
　

 
　

 
　

FIG.017  COVER(BELT)SYSTEM(SCMA54M)

1 8665-407-310-00 COVER/BELT/LH   COMP 1 7F

2 8663-407-031-00 INSULATOR/150X100 1

3 1636-631-013-00 TRIM/160 1

4 8665-407-031-00 INSULATOR/390 1

5 1728-630-005-20 INSULATOR/270 1

6 8665-407-032-00 INSULATOR/190 1

7 1728-630-005-20 INSULATOR/270 1

8 8665-407-320-20 COVER/BELT/RH   COMP 1 7F

9 8663-407-230-20 PLATE/COVER     COMP 1 7F

10 8663-407-031-00 INSULATOR/150X100 1

11 1636-631-013-00 TRIM/160 1

12 8665-407-031-00 INSULATOR/390 1

13 1728-630-005-20 INSULATOR/270 1

14 8665-407-032-00 INSULATOR/190 1

15 1728-630-005-20 INSULATOR/270 1

16 V363-260-008-00 NUT/WASHER 12

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

25 / 33



     8663-097-110-10                                                            2015/12/03
     指定型式: -  指定号機: -

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

　

図番

　

　

部品コード

　

　

品名

　

仕
様

　
型式
　 代

替
性

色
番
号

グ
ル
|
プ

　

備考

　
SCMA
48M

SCMA
54M

 
　

 
　

 
　

 
　

FIG.018  WHEEL(GAUGE)SYSTEM

1 8663-501-210-00 FORK/WHEEL/LH   COMP * 1 1

2 8663-501-220-00 FORK/WHEEL/RH   COMP * 1 1

3 8663-501-230-00 PIN/08X56       COMP * 2
-103033

2
-100549

3A 8663-501-240-00 PIN/08X60       COMP * 2
103034-

2
100550-

4 8657-501-530-00 WHEEL/GAUGE     ASSY * 2 2

5 8654-501-283-00 BUSH/22X25X25 * 4 4

6 8663-501-001-10 PIN/22X106 * 2 2

7 V411-260-022-00 WASHER,PL/M22 * 2 2

8 V760-150-000-00 NIPPLE,GREASE * 2 2

9 V304-460-016-00 NUT/M16 * 2 2

10 V401-160-016-00 WASHER,SP/M16 * 2 2

11 8595-501-001-20 WHEEL/GAUGE/FRONT * 3 3

12 8595-505-051-30 PIN/12X117 * 3 3

13 V360-260-012-00 NUT/WASHER * 3 3

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

26 / 33



     8663-097-110-10                                                            2015/12/03
     指定型式: -  指定号機: -

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

　

図番

　

　

部品コード

　

　

品名

　

仕
様

　
型式
　 代

替
性

色
番
号

グ
ル
|
プ

　

備考

　
SCMA
48M

SCMA
54M

 
　

 
　

 
　

 
　

FIG.019  LINK SYSTEM

1 8663-608-210-00 ARM/FRONT       COMP * 1 1 7F

2 8595-608-082-10 PIN/16X96 * 1 1

3 1560-601-028-00 SPRING/HC042 * 1 1

4 V580-140-504-00 PIN,SPRING/5  X40 W * 1 1

5 8657-608-720-00 FORK/M22        COMP * 2 2

6 8595-608-082-10 PIN/16X96 * 2 2

7 1560-601-028-00 SPRING/HC042 * 2 2

8 V580-140-504-00 PIN,SPRING/5  X40 W * 2 2

9 V334-460-022-00 NUT * 2 2

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

27 / 33



     8663-097-110-10                                                            2015/12/03
     指定型式: -  指定号機: -

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

　

図番

　

　

部品コード

　

　

品名

　

仕
様

　
型式
　 代

替
性

色
番
号

グ
ル
|
プ

　

備考

　
SCMA
48M

SCMA
54M

 
　

 
　

 
　

 
　

FIG.020  LABEL

1 2500-901-027-00 LABEL/CE * 1 1

2 8595-901-006-00 LABEL/WARNING/BELT * 1 1

3 8595-901-007-00 LABEL/WARNING/HOT * 1 1

4 2500-901-014-30 LABEL/DANGER * 2 2

5 8654-901-002-00 LABEL/PTO * 1 1

6 1593-901-015-00 LABEL/MAINTENANCE * 1 1

7 8663-901-001-00 LABEL/GAUGEWHEEL * 1 1

8 8663-901-002-00 LABEL/TENSION * 1 1

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

28 / 33



     8663-097-110-10                                                            2015/12/03
     指定型式: -  指定号機: -

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

　

図番

　

　

部品コード

　

　

品名

　

仕
様

　
型式
　 代

替
性

色
番
号

グ
ル
|
プ

　

備考

　
SCMA
48M

SCMA
54M

 
　

 
　

 
　

 
　

FIG.021  JOINT(UNIVERSAL)(SCM48M)(OPTION)

1 8663-101-210-00 JOINT/UNIVERSAL SET T 1 025
　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

29 / 33



     8663-097-110-10                                                            2015/12/03
     指定型式: -  指定号機: -

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

　

図番

　

　

部品コード

　

　

品名

　

仕
様

　
型式
　 代

替
性

色
番
号

グ
ル
|
プ

　

備考

　
SCMA
48M

SCMA
54M

 
　

 
　

 
　

 
　

FIG.022  JOINT(UNIVERSAL)(SCM54M)(OPTION)

1 8665-101-210-00 JOINT/UNIVERSAL SET 1

2 8654-101-221-00 FITTINGYOKE 1

3 8665-101-211-00 SHAFTYOKE 1

4 8665-101-212-00 SLEEVEYOKE 1

5 8654-101-230-00 JOURNALCROSSE   ASSY 2

6 8654-101-232-00 GREASENIPPLE 2

7 8654-101-233-00 SURCLIP/HOLE 8

8 8665-101-213-00 SAFETYGUARD/IN 1

9 8665-101-214-00 SAFETYGUARD/OUT 1

10 7821-102-008-00 RING/SLIDE 2

11 7821-102-220-00 CHAIN           ASSY 2

12 8657-101-501-00 AS YOKE         ASSY 1

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

30 / 33



     8663-097-110-10                                                            2015/12/03
     指定型式: -  指定号機: -

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

　

図番

　

　

部品コード

　

　

品名

　

仕
様

　
型式
　 代

替
性

色
番
号

グ
ル
|
プ

　

備考

　
SCMA
48M

SCMA
54M

 
　

 
　

 
　

 
　

FIG.023  COMPONENT PARTS FOR 8659-101-210-00 ON Fig.1

1 8659-101-211-00 UJ              ASSY 1

2 8659-101-214-00 YOKE/SHAFT 1

3 8659-101-215-00 FITTINGYOKE 1

4 8659-101-212-00 ASYOKE          ASSY 1

5 8659-101-211-00 UJ              ASSY 1

6 8659-101-212-00 ASYOKE          ASSY 1

7 8659-101-213-00 SLEEVEYOKE 1

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

31 / 33



     8663-097-110-10                                                            2015/12/03
     指定型式: -  指定号機: -

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

　

図番

　

　

部品コード

　

　

品名

　

仕
様

　
型式
　 代

替
性

色
番
号

グ
ル
|
プ

　

備考

　
SCMA
48M

SCMA
54M

 
　

 
　

 
　

 
　

FIG.024  COMPONENT PARTS  FOR 8662-101-210-00 ON Fig.2

1 8659-101-211-00 UJ              ASSY * 1

2 8662-101-214-00 SHAFTYOKE * 1

3 8659-101-215-00 FITTINGYOKE * 1

4 8659-101-211-00 UJ              ASSY * 1

5 8659-101-212-00 ASYOKE          ASSY * 1

6 8662-101-213-00 SLEEVEYOKE * 1

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

32 / 33



     8663-097-110-10                                                            2015/12/03
     指定型式: -  指定号機: -

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

　

図番

　

　

部品コード

　

　

品名

　

仕
様

　
型式
　 代

替
性

色
番
号

グ
ル
|
プ

　

備考

　
SCMA
48M

SCMA
54M

 
　

 
　

 
　

 
　

FIG.025  COMPONENT PARTS  FOR 8663-101-210-00 ON Fig.21

1 8654-101-221-00 FITTINGYOKE T 1

2 8663-101-211-00 SHAFTYOKE T 1

3 8654-101-230-00 JOURNALCROSSE   ASSY T 1

4 8654-101-232-00 GREASENIPPLE T 1

5 8654-101-233-00 SURCLIP/HOLE T 4

6 8663-101-213-00 SAFETYGUARD/IN T 1

7 7821-102-008-00 RING/SLIDE T 1

8 7821-102-220-00 CHAIN           ASSY T 1

9 8663-101-212-00 SLEEVEYOKE T 1

10 8654-101-230-00 JOURNALCROSSE   ASSY T 1

11 8654-101-232-00 GREASENIPPLE T 1

12 8654-101-233-00 SURCLIP/HOLE T 4

13 8663-101-214-00 SAFETYGUARD/OUT T 1

14 7821-102-008-00 RING/SLIDE T 1

15 7821-102-220-00 CHAIN           ASSY T 1

16 8657-101-501-00 AS YOKE         ASSY T 1

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

　
　

33 / 33


